Pre-Calculus 11 Chapter 7 Test Practice. Name: ){/ é}/
_ {
Date: Block:

Multiple Choice For #1 to #5, choose the best answer.

1. The value of the expression |-9-3|-|5- 23] +-7+1-4|is
(2 -3 0

Al @19 C2l D25

2. The range of the function f(x) = [x — 3| is

A{yly>3,yeR} B{ylyz3,yeR}
O 1y20,yeR} D{y|y>0,yeR}

3. The absolute value equation |1 — 2x| = 9 has solution(s) [ -2%=7] I-2X=—%
Ax=—4 Bx=35 ~4=X SaX
Cx=-5andx=4 (Dk=—4andx=>5

4. The graph represents the reciprocal of which quadratic

function?
Q(x) =x*+x-2
Bf(x)=x"-3x+2
Cia)=x"=x-2
Df(x)=x"+3x+2
5. One of the vertical asymptotes of the graph of the reciprocal function y = has

x*-16
equation

Ax=0 (B)x=4 Cx=8 Dx=16



Short Answer

a) Sketch the graph of the function.
b) Determine the intercepts.

6. Consider the function /(x) = [2x — 5. R T

X-ink 2 (25, 0 )

)"fn‘t : (0, 5)

¢) State the domain and range.

X€ER

Y 20, YeR

d) What is the piecewise notation form of the
function?

2%-65 X>a5, xR [ 111

—2Xt55 X< &5, XER

7. Solve the equation algebraically.

a) [2w—3|=w+ 1

Case I Case 1
2W =3 =Wt .
W = 4 IX-X=4X-2
3x*-5x+2 =0
" (3% =2)(x= 1>=0
Case
2W-3= -W- | S X
£ 2 3 43X -2 =0
W=3 -
C\‘eck X= -32 64' 24
2(4)-3| = 4+ V
] ) l Check
it

b) |3x* —x| =4x -2

>
n
w|p

» 5



8. Determine the error(s) in the following solution. Explain how to correct the solution.

Solve |x — 4| =x* + 4x.

e\rYOY
Case 1 Case 2
x+4=x"+4x =+ ax =Xt &=+ 4X
0=x"+3x —4 0=x*+5x+4 0=x* +5X—4
= +d)x —1) 0=(x+4)x+1) 0=(x XX )

x+4=00rx —-1=0 x+4=0o0rx+1=0 Can net ow/

x=-4orx=1 ¥= orx= =l x__gi 25 + b
The solutions are x=—4,x=—1,and x = 1.
eqfrunsess | S14

C_Lec'/k";" p yeoc
- (3;225 v N
g x==5"4 v _p70 a5

x:-sﬁh{ Vv
-

9. Consider the function f(x) =3 — 2x.
a) Determine its reciprocal function.
b) State the equations of any vertical asymptotes of the reciprocal function.

¢) Graph the function f'(x) and its reciprocal function on the same axes. y 0\-0
v ,,27M@dﬁﬂﬂm
0y y= I :/L st
S3=2LX J 1]
4

b)  3-2x=0

32 =X
) =

: ___.




10. A biologist studying Canada geese migration analysed the vee flight formation of a
particular flock using a coordinate system, in metres. The centre of each bird was
assigned a coordinate point. The lead bird has the coordinates (0, 0), and the
coordinates of two birds at the ends of each leg are (6.2, 15.5) and (-6.2, 15.5).

a) Write an absolute value function R

whose graph contains each leg of the K VAT 1 A
vee formation. [ NCB2T55) 1 [ TE2.155)
e NI
6.2-0 24 P,
: 04 =
J=l2ex] AN CamdE
_ = I V=ImEEq0,0)
b) What is the angle between the legs of the | HEBNZAERENN
vee formation, to the nearest tenth of a ==l oD ¢ 5 X
degree? N ] |

Shown 1n the. \"d m=25 and b=0

@ 1 =2
o= e (55 = 68.2/ (-3 (B - yease

A2 a.'v/e fefryeen THe /y.r of The Vee 7@:-»'4{:‘94 JS 7"'3.6°

¢) The absolute value function y = |2.8x| describes the flight pattern of a different
flock of geese. What is the angle between the legs of this vee formation, to the
nearest tenth of a degree?

B = tom (28)= 70.346°
/80— 2(70.346) = 393°

Lok O be the TE]te"Ceo. 'LTMW -e.guod‘aon Mmx+bh= =y

TAe anj/e between A2 /cj?r of Fhs Veo

fma#‘m ;s 39.3°
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